Unit 8-5: The Software Development Life Cycle
Unit 5 Quiz Items 

Instructions: Choose the best answer for each of the following questions. 
1. SDLC stands for:

a. System Development List Creation

b. System Depreciation Lifetime Cost

c. Software Depreciation Listed Costs
d. Software Development Life Cycle

2. Which is NOT commonly considered a phase of the SDLC?
a. Requisition phase

b. Requirements analysis phase

c. Concept development phase
d. Operations and maintenance phase

e. Testing phase

3. Which statement accurately describes a SDLC model?

a. The waterfall model emphasizes sequential development.

b. The iterative model emphasizes that the product may need to pass through the same phase multiple times, in a cyclical fashion. 

c. The spiral model emphasizes prototyping as part of the cyclical process. 

d. Both B and C

e. All of the above (A, B, and C)
4. Which is NOT a reason why the SDLC is important for EHR systems?
a. Effective selection of a commercial EHR for your institution

b. Need for user satisfaction and high quality

c. In-house development or integration of an EHR

d. Mitigation of risk factors and minimization of downtime

5. True or false: The SDLC covers creation of the product, but routine maintenance and ultimate decommissioning are addressed in different models. 
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